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Elective Group EF—TAX PLANNING AND MANAGEMENT
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(Write your Roll No. on the top immediately on receipt of this question paper. )

Note .—

Note :—

Answers may be written either in E_pglish -or in Hindi;
but the same medium should be used: throughout the
paper.
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The maximum marks printed on the question paper are
applicable for the students of regular colleges. These marks
will, however, be scaled up proportionately in respect of
the stucients registered with the school of open learning,
at the time of posting of awards for compilation of result.
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Attempt All questions.

All questions carry equal marks. -
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(a) Distinguish between Tax planning, Tax Avoidance and
Tax Evasion. Also discuss-McDowell’s case to highlight

the distinction.

(b)  Explain the provisions with regard to carry forward and
set off of losses of a company in which the public
are not substantially interested under section 79. Is
section 79 applicable to losses under the-heéd capital

gains also ?
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When does a_company become ‘a company in which
the public are substantially interested’ as per section

2(18) of the Income Tax Act ?

Discuss the provisions of Dividend Tax under Section

1150.
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X Ltd. is engaged in the business of manufacture of garments..

The following information is available in respect of the

business :

Sale proceeds of goods (domestic sale)

Salg broceeds of goods (export saie)

Amount withdrawn from general reserve’
(reserve was created in 1997-98 by
debiting profit and loss account)

Amount withdrawn from revaluation reserve

Total
Less : Expenses
Depreciation (normal)

Depreciation (extra depreciation because

of revaluation)

22.23.900

5,76,100

200,000

1,50,000

31,50,000

6,16,000

270000
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Salary and wages . 2,10,000
Income Tax 3,60,000 -
Outstanding Customs Duty (ﬁot paid as yet) 17,500
P?oposed Dividend 60,000v
Consultation Fees paid to a tax éonsultant 21,000
Other Expenses - 1,39,000 -
Net Profit 14,56,500

For tax purposes vthe company wants to claim the following :

0] Deduction under section 80IB (30% of Rs. 14,56,500)

(i)  Depreciation under Séction 32 (5,36,000).

(iiiy 'The company wants to set-o& the' following losses or
allowances :

(@) brought forward loss of 2004-05; Rs. 14,80,000

for tax purposes and Rs. 4,00,000 for accounting

purposes.

P.T.O.
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(b) Unabsorbed depreciation Nili for tax purposes

and Rs. 70,000 for accounting purposes.

Compute the net income and tax liability o‘f X Ltd. for
the assgssment year 2013-14 assuming that X Ltd. gets
a deemed long term capital gain of Rs. 60,000 under
section 54D(2) which. is not credited to the Profit and
Loss account,
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200000

1,50,000

31,50,000

6,16,000

2,70,000
2,10,000

3,60,000

17,500

60,000
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Explain the provisions with regard to Minimum Alternate Tax
(MAT) under section 115JB. Also explain provisions with

regard to tax credit under section "115JAA.
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A Ltd. is a widely held company. It proposes to increase

its production for which it will require Rs. 1 crore. The

company proposes the following three alternatives for the

structure of the additional capital :
1st 2nd
Alternative Alterngtive
Share Capital 1,00,00,000 40,00,000
10% Debentures — 40,00,000
Loan from Financial
Institution — 20,00,000

(interest 12%)

3rd

Alternative

20,060,000

30,060,000

50,00,000

Expected return on capital employed in business is 25% (before

tax). Dividend is paid @ 20%. Tax rate is 30% + 5% + 3%
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Please advise the company as to which alternative it should

chose for the capital structure.
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R TSl 10000000 4000000  20,00,000
10% fes==t — 4000000 30,00,000

¥ ®HA — 20,00,000 | 50,00,000
(12% )
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X and Y want to start a business. They have two
options for selecting the form of organisation, partnership
firm or a private company. The estimated profits of
which, before following deductions, are expected at

Rs. 7,44,000.
0] Remuneration Rs. 12,000 per month

(i)  Medical facility Rs. 20,000 per annum each
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@iity  Car facility from residence to office and back, estimated

cost Rs. 20,000 per annum each,
(™) Rent free house valued at Rs, 30,000 each

(v)  Each will give loan to the business of R, 2,00,000 @

Rs. 12% per annum.

(vi)  Contribution as capital Rs. 2,00,000 each. On this
interest will be paid @ 12% per annum. However the |

Company cannot pay any interest on it.

(vii) The profits after tax will be distributed equally as profits:

or dividends.

Suggest whether they should form a partnership firm or a

private company.

P.TO.
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(@) What is advance ruling as per section 245N(a). Who
can be the applicant for advance ruling under section
245N(b). Under what circumstances the authority shall

reject the application for advance ruling.

(b) Explain the provisions under section 90 and 91 with

regard to relief for double taxation.
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(3teram)

Mr. X carries on a business of readymade garments. He wanfs
to acquire a machine for Rs. 2,00,000. The expected life of
the machine is-10 years after which it will be discarded and

sold at the depreciated price. He has three options :
()  Purchase the machine with own funds.

(#)  Borrow Rs. 2,00,000 from bank at the rate of interest
of 10% per annum to purchase the machine and repay

the entire loan at the end of ten years,
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@iid) Obtain the asset on lease, fo.r the annual lease rent
of‘ Rs. 35,000 for ten years with lease management fee

of Rs. 4,000 to be paid at the time of the agreement.
Assuming the rate of tax to be 32.445% and depreciation

rate to be 15%, suggest whether the assessee should
acquire the assets with own funds orvborrowed funds

of take the asset on lease while taking the discounting

rate to be 10%.
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S Ltd. is a wholly owned subsidiary of A Ltd. (both'allre
“Indian companies and maintaiﬁ books of account on the basis
*of financial year). On April 10, 1984 (relevant to the‘ assessment

year 1985-86), S Ltd. transfers a capital asset (i.e. shares)

to A Ltdv. (acquired ‘on April 6, 1981 for Rs. 50,000) for Rs.

1,50,000. A Ltd. sells the asset on May 10, 2012 for Rs

3,40,000. Determine the assessable_proﬁtsvof A Ltd. and S

Ltd. under the following situations :

PTO.
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() Before the sale of the asset, A Ltd. has not converted
it into stock-in-trade and. it does not cease to hold

entire share capital of S Ltd.

(i) A Ltd. has convérted theb capital asset into stock-in-
trade before its sale on May 10, 2012 (date of

conversion : June 10, 1987, fair market value : Rs.

3,10,000).

(iii) Though A Ltd. does not convert capital asset into
stock-in-trade, it ceases to hold entire share capital of
S Ltd. on June 10, 1988 when 5 per cent share holding

in S Ltd. is transferred by way of sale to the public.

(Index numbers : 2012-13—852, 1987-88—'150, 1984-85—125,

1981-82—100).
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(GEFIF T : 2012-13—852, 1987-88—150, 1984-85—

125, 1981-82—100).
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(3teram)

What is slump sale as-per section 2(42C) ? How would you
determine capital ‘gains in the case of slump sale under section
50B.
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